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< 30,000
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150,000& 6 900
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— A2 S 11,2102 x20Al 2+ %123 +1H 2,691
-5 89,6803 «20 x1H 1,794
— X< 59,790 *17 »1H 1,017
— I =l 200,000 23|« 1H 400
ONMEHLHEH2IER A 30,139
—JlEs 1,486,800& x12& 14 17,842
—Jlg=g 20,481,600%43| /12& 6,828
— BE S0t 400,000& x 1 +23] 800
— Z W Z A 120,000 x1H » 128 1,440
—Ws2Xdl 100,000& x1H 122 1,200
-5 84,280 «20L «1H 1,686
— XY 17,110& x20Z »1H 343
OsJIIHLUAMNYE EX2H 33,504
—Jl=s 1,483,500& x12& x1H 17,802
—JlZ=g 20,442,000& *43| /128 6,814
— ZE S| 400,000 x 1 %23 800
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-5 84,1203 x20L «1H 1,683
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Jl2 &3l 56,916 53,532 3,384
JlE&l 56,916 53,532 3,384
201 £B-2dH| 12,096 11,592 504
01 At 22/l 12,096 11,592 504
ORAM2Y JI23Hl 12,096
202 oddl 41,820 38,940 2,880
01 2LHoIHI 41,820 38,940 2,880
O=otl 41,820
203 YR =&y 3,000 3,000 0
04 EA2IYRFLH| 3,000 3,000 0
ORN2Y gR=2 3,000




